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QUESTION 1

Your project requires a loop through the same package logic 24/7. You must be able to purge those executions when
required.

How do you accomplish this? (Choose the best answer.)
A. Link the last step of the package to its first step to create an infinite loop.

B. Create a scenario from the package, add the scenario as the last step in the package, run it asynchronously, and
then save and regenerate this scenario.

C. Create a scenario from the package, add the scenario as the last step in the package, run it asynchronously, and
then save.

D. Drag the package to the last step in the package, run it asynchronously, and then save.
Correct Answer: B

(http://www.rittmanmead.com/2015/04/di-tips-odi-convert-to-flow/)

QUESTION 2
You design a package with mappings that consume data from journalized data stores in Consistent Set CDC mode.

Which option represents the steps that must be performed at the beginning of your package to accomplish this?
(Choose the best answer.)

A. Add data stores to the package, set Datastores steps to Journalizing Datastore, and select the Extend Window and
Lock Subscriber check boxes.

B. Add data stores to the package, set Datastores steps to Journalizing Datastore, and select the Unlock Subscriber
and Purge Journal check boxes.

C. Add a model to the package, set the Model step to Journalizing Model, and select the Extend Window and Lock
Subscriber check boxes.

D. Add a sub model to the package, set the Sub-model step to Journalizing Sub-model, and select the Extend Window
and Lock Subscriber check boxes.

Correct Answer: C

(https://docs.oracle.com/middleware/1212/0di/ODIDG/data_capture.htm#ODIDG287)

QUESTION 3
The source and target data stores are located on the same data server.

Which statement is correct about the need for a Loading Knowledge Module to load the data on the target? (Choose the
best answer.)
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A. Only an Integration KnowledgeModule single-technology is required.
B. Only an Integration Knowledge Module multitechnology is required.
C. Aloading Knowledge Module multitechnology and an IntegrationKnowledgeModule single- technology are required.

D. Both a Loading Knowledge Module multitechnology and an Integration Knowledge Module multitechnology are
required.

Correct Answer: C

(http://docs.oracle.com/cd/E21764_01l/integrate.1111/e12643/interfaces.htm#0ODIDG1059)

QUESTION 4

Which statement is true about the IKM SQL Control Append that creates an intermediate integration table prefixed with
I$? (Choose the best answer.)

A. Theintermediate integration table prefixed with 1$is required to determine which records must be inserted.
B. IfFlow Control is not necessary, an I$ table is not created.

C. Theintermediate integration table prefixed with I$ is createdbecause the flow control is mandatory when doing an
initial load.

D. Neither the LKM northe IKM create intermediate tables. Most of their work is performed in the ODI Agent memory.
Correct Answer: D

(http://mvww.oracle.com/us/products/middleware/data-integration/odi-performance- guide-wp-2147067.pdf)

QUESTION 5

You need to create a package that automatically sends an alert to users in case the third step fails.

Which option represents the steps to accomplish this? (Choose the best answer.)

A. Add anOdiSendMailstep to My Package and link the My Third Package step to it by using a green OK arrow.
B. Add anOdiSendMailstep to My Package and link the My Last Package step to it by using a red KO arrow.

C. Add anOdiReadMailstep to My Package and link the My Third Package step to it by using a red KO arrow.
D. Add anOdiSendMailstep to My Package and link the My Third Package step to it by using a red KO arrow.
Correct Answer: B

(https://gurcanorhan.wordpress.com/2012/11/30/odi-alert-mechanism/)
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